<7/ DIRTFREAIC PROOLLCT MNEWS

HONDA CRF300L/RALLY
CUSTOM PARTS

ADVENTURE STYLE




PFROOULCT NeNS

o i ’

ZEA4-5013  Pivot Lever Set CP 3 Finger Red ZE70-1001  Adventure WindShield ZEO07-6453  Comp Bar DualSports Medium Red
ZEA7-5000  RaceGrip STD Black/Grey ZE40-9111  Rotating Bar Clamp UN Ti-Color
ZE40-9411  Rotating Bar Clamp MH 10mm Ti-Color

Y (VS

ZE72-6003  Adventure Armor for 22.2mmBar Ti-Color ZE86-1503  Front Brake Reservoir Cover Red ZE33-2100  COMP Stabilizer W100 D48-02-632  Wide Foot Pegs CrMo Mid
ZE72-0405  Armor-Guard X3 Protectors Red ZEB86-5103  Rear Brake Reservoir Cover Red ZEB8-2123  Stem Nut M24x30-P1.0 H12 Red D48-02-932  Motard Foot Pegs CrMo

ZE58-4133  Stem Cap 13-17.5mm Red

'y 4 L 152
’)';:'),'.‘,")!
ARV
ZE56-10132  FrontFork Cap Red ZE93-8022  Axle Nut M16x27-P1.5 H13L Red ZE81-2051  Heel Guard Black 7C35-4338  Front Fork Wraps 52x248mm
ZE93-5063  Rear Axle Block Red ZE82-1082  Chain Guide Red

W51-20033  Rear DiskRotor SUS



ZE80-9315
ZE89-1150
ZE90-3042

ZE89-2110
ZE90-1023

ZE89-5045

Drive Cover Red
Engine Plugs Red
Revolver Shift Lever Red

Oil Filler Plug Red
Oil Filter Cover Red

Rear Brake Clevis Red

PFROOULCT NMNeNS

Description
ZETA

number

Description

ZETA

Part number

Comp Bar DualSports Medium Red ZE07-6453 Axle Nut M16x27-P1.5 H13L Red ZE93-8022
Top Clamp SX Red ZE11-1256 Axle Nut M16x27-P1.5 H13L Red ZE93-8022
Top Clamp COMP Red ZE12-1256 Screen Bolt Set Black 4pcs ZS88-1040
Triple Clamp Kit SX Red ZE14-1256 Screen Bolt Set Red 4pcs 7588-1042
COMP Stabilizer W100 ZE33-2100 Z-CARBON
Rotating Bar Clamp UN Ti-Color ZE40-9111 Front Fork Wraps 52x248mm ZC35-4338
Rotating Bar Clamp MH 10mm Ti-Color ZE40-9411 .
Pivot Brake Lever CP 3—Finger ZE41-3145 Gr5-Tl Brake DISk Bolt Set H M6x17 6pcs ZT31-0556
Pivot Brake Lever CP 4-Finger 7E41-4145 Gr5-T! Brake Disk Bolt Set H M8x22 4pcs ZT31-3764
Pivot Clutch Lever CP 3-Finger ZE42-3104 Gr5-T! Flange Bolt Set M8 30mm 2pcs ZT83-2302
Pivot Clutch Lever CP 4-Finger ZE42-4104 Gr5-T! Flange Bolt Set M8 35mm 4pcs ZT83-2354
Pivot Lever Set CP 3Finger Black ZE44-5011 Gr5-Ti Flange Bolt Set M8 40mm 2pcs 2183-2402
Pivot Lever Set CP 3Finger Red ZE44-5013 Gr5-Ti Flange Bolt Set M8 45""" 2183 2454
Aluminium Throttle Tube STD ZEA5-5024 Rear DiskRotor SUS W51-20033
Throttle Tube Closed End ZE45-8024

Brake Hose F C.BLK W61-14011
Throttle Tube Open End ZEA45-8124 SUS304 Spoke Set Front ZDC420-1117
RaceGrip STD Black/Grey ZE47-5000 SUS304 Shoke Set Rear ZDC420-5120
Comp Bar Pad Black ZE47-9132 £ e
FrontFork Cap Red ZE56-10132 Dura Front Sprocket 520-12T D331-521-12
Magne“c Drain Bolt M12x15-P1.5 Blue ZE58-1522 Dura Front Spl’ocket 520-13T D331-521-13
Magnetic Drain Bolt M12x15-P1.5 Red ZE58-1523 Dura Front Sprocket 520-14T D331-521-14
Stem Nut M24x30-P1.0 H12 Black ZE58-2121 Clutch Lever Short D40-03-125
Stem Nut M24x30-P1.0 H12 Red ZE58-2123 Brake Lever STD D40-11-410
Stem Cap 13-17.5mm Red ZE58-4133 Brake Lever Short D40-13-410
Adventure WindShield ZE70-1001 FootPegs Spnng/Pm Set D48-01-101
Armor-Guard X3 Protectors Red ZE72-0405 Wide Foot Pegs CrMo Mid D48-02-532
Adventure Armor for 22.2mmBar Ti-Color ZE72-6003 Wide Foot Pegs CrMo High D48-02-632
Drive Cover Red ZE80-9315 Wide Foot Pegs CrMo U-Wide D48-02-832
Heel Guard Black ZE81-2051 Motard Foot Pegs CrMo D48-02-932
Chain Guard Brace ZE82-0211 161 Off Road Mirror 10mm Right Pack D58-16-110
Chain Guide Red ZE82-1082 161 Off Road Mirror 10mm Left Pack D58-16-120
Front Brake Reservoir Cover Blue ZEB86-1501
Front Brake Reservoir Cover Red ZEB6-1503
Rear Brake Reservoir Cover Red ZE86-5103
Fork Guard Bolt Set 6pcs.Honda-2 Red ZE88-9112
Engine Plugs Red ZE89-1150
Engine Plugs Black ZE89-1151
Oil Filler Plug Red ZE89-2110
Oil Filler Plug Black ZEB89-2111
Oil Filler Plug Blue ZE89-2112
Rear Brake Clevis Red ZEB89-5045
Oil Filter Cover Red ZE90-1023
Revolver Shift Lever Red ZE90-3042
Forged Shift Lever Red ZE90-4042
F-Brake Line Clamp Red ZE92-0206
F-Brake Line Clamp Blue ZE92-0207
Aluminum FootPegs Black ZE93-1020
Aluminum FootPegs Red ZE93-1022

Rear Axle Block Red

ZE93-5063




